CIRCULAR FUNCTIONS AND TRIGONOMETRY
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AL ~Fq v

'
(b LXPIC‘S% 3 in deg;‘ces 3

Ty

) E valuate cos ’:ﬂ()"ws §}°

. |5

(05300 JJ (0< 30 ;';)

(d) Expressintermsof tan®; In(r Jo(x_0) - tan ——9
(,os *+8

AN

interms of sin®.

‘\1 J, /9
Question 4

w)  Lxpross -
() BApres G

c0s0 + |

b}  Sol - .
by vive cosB -1 cosB + |

=" -8,0° <6< 360°

((4-8)) =t

iy

Y

Sin 6

je/,_ \ Ewre

TN

G)g\\r\ (7“0)

“Sa(-hmd)
. ‘Sm(dﬂtj ~ /S

[
Qloc(h+3)
= = S,

o (-t 30)
<[ (0]
B 4@( 0 52“ \:(o‘rf)_



(ogf) - |
< (fosh ) - (1
(0s*§ -
9 | 't
) =8
— Cin? )
— G2 p = -9
I

@) .
KS - ((0s0~ Snp)

= b - 2 S cosh + Gaf)
S 1-@)(z) = 0
() Gt - Sing =0
aefean  Sab (Sub-1)=0
Gin) = |

TR

Sufy =0

T\
G 0%

- 2
07
Sin*f - Sing = 2
Cinf ~Snh-2=0
Sin -2
§inO l
Sinf=1 = Sinf = -
(Sp<2) ( GaBA) 20
TR



Quiestion 5

(W Giventhat cos8sin® = =, evaluate (cos® — sin0)2.
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(b} Find al values of © such that (i) sin®8-sin® = 0,0£6<2n.
(i) sin?@—-sin® = 2,0<0<27.

Question 6

The figure below shows the graph of f(x) = "sm(%) k»fﬂﬁ heds,: 2
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Consider the graph of the function h{x) = acos(bx) +c:
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Question 11

For the dingram shown alongside, the value / o T
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Question 16

I'he area of the triangle shown is 27 sq. units. Given that sin® = I find x.
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Question 22

The graph of f(x) = acos(ba) + ¢, 0 € x <7 is shown below. Find the values &, b and ¢.
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Question 21

The segments {CA] and {CB] are tangents to the cirele at the = __U; = _Z.
points A and B respectively. If the circle has a radius of 4 em IR 3
and LAOB = %ﬁ

(9 Find the length of [OC). 0c= & tm

() Findthe wrea of the shaded region.
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(a) Lets = sin®. Show that the cquation 158in8 + cos26 = 8§ + xin?8 can be expressed in
the form 252 - 15¢+7 = 0.

(b)  Hence solve [5sin® + cos?0 = 8 +5in28 for 8 e [0. 2x).
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Question §

The length, in minutes, of telephone calls at a small office was recorded over 4 one moath

period. The results are shewn in the table below.

(6)

Length of call (minutes) Numberof calls— C,‘ MLHM (O—U.S .

0<r<2 40 4o Ml :

2<r<4 a0 )77 106 Cu)tyo) + (3) (o) +(5) (40)
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(0) Construct a cumulative froquency graph. 1bo ’ é x 2 57
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(5 Find )  the meun length of culls, (4) 460 \ |

(it} the mode of the length of calls, {

(i) the median, iy 3-°° ';: /
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A carton contains 12 eggs of which 3 are known to be bud. 112 eggs are randomly selected, whu'r &

is the probability that
(a)  oneis bad?

(b) both are bad?
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How many permutations are there of the word RETARD if
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(b} they donot start withRE. 2 ([ =(720

(1) they start with RE.
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Students at Leegong Grammie School are enrol led in either physics t}rnmllu-'nmtic:sorl)oth.'ic)9 P ( Pl M) =Jd =

Question 13

probability that a student is enrolled in physics given that they are enrolled in mathematics isz
P

while the probability that & student is enrolled in mathematics given that they are enrolled in

s o p(u|p)= 2 . PPN
physics is i Thee probability that a student is enrolled in both mathematics und physics isx. f - l‘. = -

() Vind. in terms of x, the probability that 4 ant s enrolled in
(iv  mathematics. - -
(i) physics, P(M) ) P (P) i q"x F( P A H ) X

(5) Find the probability thal a sudent selected at g7 dipm is enrolled in muthematics only.
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{c) If three sach students are n&ulumﬁ;&c?tm
them is carolled is mathematics only?

Question 18

A fair coin is tossed five limes.

() Find the probability of observing
(i)  exactly one tail.
(i) at least fourtails, LLDRg )

(i) al Teast one tail,
S' q’I %\ ll ‘ .

Question 24

If P(A) = % Py =} and PaUB) = ;—Z.l’md
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